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1. Answer the following questions :

for the guestions

Answer either in English or in Assamese

1x10=10

mmw%m

(a)

(b)

Mention one need for studying .
€CONOoIICS.

Heffem Sy OB ararEaRe Sraw 4 |

Define market economy.

I [YAfST Agem |

R 2+ TT I ey Y
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(2)

(c/) What is elastic demand?

fefewmerz wmfzm fa 2

{d} Draw the perfectly inelastic supply curve.
T RfEfewrem @ e S 4 |

(e) Define an inferior good.

5% A Se W fa

( What is income consumption curve?
A Tegsiet (a9 F 7

(g) Distinguish between short run and long
run with the help of fixed and variable
Ccosts.
fFr wF <iffedNe e RO TS T
I TR cnef oy 34y

(h) What is producer’s surplus?
Ty Tge f$ 9

() “Supply curve is not relevant for
monopoly.” Why?
“9Flm IWRAT @M @R A C1e M
R
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( 3)

(/). Why is the average fixed cost curve
rectangular hyperbola?

7T foe am (aereE B wmdn age w2

2. Answer the following questions briefly : 2x5=10

TR 2PCART b 6 f

(a) Distinguish between positive economics
and normative economics.

zfafefes wf@fes we Ao @i Toe
A7 foiefg F41 |

(b) State two exceptions of the law of
demand.

i B w51 e B A |

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

‘oifzma e’ wF ‘o R g’
qrers A1 #4940

(d) Prove that two indifference curves do not
intersect each other.

o A @ [OP FACTE AR IR €I
CTRICR |
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( 4 )

. average cost curve
(e} Why is the long-run averag
‘U shaped?

BrfarSie sre < cadrer@ U wigfea [ =

Ll

3. Answer any four of the following questions :
S5x4=20

=q ercaTad [ Gl BiaBE Taa W

{a) What is budget line? Why does the
budget line slope downwards?

aCEs caw o Qe @9 AW SEmIE cgmam
=% 2

(b) Distinguish between normal goods,
substitute goods and complementary
goods.

Hrefas 78, o A4 @ «feeEe AREE
qrEe A faefg w91 |

(c/ What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

awﬁmwwmﬁmuﬂmwm
R @A e wm @AM TS WAwE BCA,
AN 4T |

22A/428

https://www.assampapers.com



( 6 ) ( 7))
(b} Wha_t is price elasticity of demand? What

are its determinants? Discuss. 3+7=10 - (d) What 1s price rationing? An: iyze the
SifEma wa efewmerme B0 Bu Fframorgz impact of price rationing on the market.
5 2 =icemSe w-— 2+8=10

Or / SerT TSR B2 viq fetseqrd T 90T w41

R 2Sla f[owse 341 |
Explain the concept of marginal rate of
Or / 51

substitution with the help of diagram.
Why does marginal rate of substitution

diminish? 6+4=10

foaa sewe oafer afewsm = wRah m Disc ,
w1 1 o s 2 R SRS T 2 Discuss the factors responsible for shift
in the demand and supply curves. 5+5=10
BRI W @R @91 TS aRE BemIPTE
(¢} Explain the determination of wages HICEATSAT T4
under competitive labour market. 10
sfEafaergae w91 IHEe g FAdea ofFEn
ol ol

I 9T

Or / |97

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=11

TR GIfEH A oafE I T | ey
5w (TN FAWRT (IR FRIYE WA
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